RASHTRIYA INDIAN MILITARY COLLEGE, DEHRADUN
ENTRANCE EXAMINATION - JUN 2021
SUBJECT: MATHEMATICS
TIME: 1Hr 30 Mins

MM: 200
Instructions:

Attempt all 30 questions. Write your answers separately on the answer sheet to be provided at
the exam centre.
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Part ‘A’ contains 20 yaestions and each question in this part carries ‘Five marks’.
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Part ‘B’ contains 10 questions and each question in this part carries ‘Ten marks’.
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Use of Calculator is Prohibited. Marks will be awarded stepwise.
A T U T GG A & | ¥F WY AN Y i |
Take the value of 7 as 2—72/ LCIRIE | ?;zf%{ﬁﬂ’l

The question paper can be retained by the candidates post exam./ TS&T @ aT5 TXEmet ¥e7 T3 @1 & W
T & |

Shyam was asked to multiply a given number by 5/6. By mistake, he divided the
given number by 5/6. His answer was 55 more than the correct answer. What
was the given number? / sarm #r it dwar #1 5/6 & qum <7 F f drer 74| TEAT F THA TH
T #r 5/6 & T % Ram) afk FEw 39w I9 & 65 wfww o7 ff areafrw Awr @ w7 AL | KO

What is the highest four digit number which is divisible by each of the numbers
16, 36, 45, 48?7/ == =1 1 5o 7ET dq7 7T F< 37 16, 36, 45, 48 ¥ Frwfira T &N Any, q%GO

12 people can paint 10 identical rooms in 16 days. In how many days can 8
people paint 20 such rooms?/ af% 12 srzt 10 F< 7 16 A1 & Tr 79y & 97 8 st 20 T

AR R T gt A Dy

The four angles of a quadrilateral are in the ratio 3:5:7:9. Find the angles
separately./ ft sgdsr ¥ =72 Froif #7 w9TH 3:5:7:9 &1 F01f 77 HTA ATH |

ﬁﬁﬂq ] . [}
My, 4R° 5 10, 135

rnd it [ x [2]7 = [
w57 = [ awt w=-2

a® — b?® = 81 and a — b = 3 then what is the value of a2 + b2 .
zza® - b3 =8l#x a—b =37ra? + b? s= 7 F¥ Ang’, 2|

Find the smallest number which when increased by 17 is exactly divisible by both
520 and 468./ ¥ 7a# gifz dwar wra Fifsry Hrasr 17 7ary 92 18 520 #7468 F b= v &

T AW 4062
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Q8 In ho“: much times will a car, running at 50 km/hr cover a distance of 500km If it
stops for half an hour after every 100 km / afX wr 50 Aol wfft o ¥ afd & sorit arf®y wie

T 100 R g ww R T 34 W el R o e e 500 Al B et wed i v war A(nb'. D.h“ﬁ.

Q9 T\:'o train running in opposite direction cross Shyam standing on the platform in
27 second and 17 second respectively and they cross each other in 23 seconds,
The ratio of their speed is?/ fRwétr e i wer wreft & v wrar: 27 Akw e 17 A¥w & v
A T R TR R 0T O TR 23 b R reweedt &) gl afd sy fef ALAY, 200

Q.10 The volume of a cuboid is 5184 cm3. It can be cut exactly into either 3 cm cube or L
2.cm cubes. The ratio of the length of cuboid to its breadth to its height is 4:3:2,
Find the dimensions of the cuboid ./ ww wamw wr s 5184 st &1 srore 3 qof ww 1 3
{2 A AT N & W7 97 WA & ow s svars, s st sk T s werer: 4:3:2 & oy

w=Tw i ey e R L= 24,0“' %:\%Cm} H=12un
Q.11 Evaluate / sw= w%

x5+nx (x2)3n+1 %" flg

x7n-2

Q.12 From the adjoining figure, find the value of » / ¥ g Rex & ¢ % w7 rrer Ffdng |

Q.13 Simplify / sw= =%
84—-7[-11x—4{-17x+3(8-9=5x)))  AML 2|

Q.14 From the adjoining figure, find the area of shaded region if AB=8cm and AD=6cm
[Take pie = 3.14] / af% R 72 sr3ft # AB=8cm s AD=6cm & & Tafra Wi i frreer
we T 1 [ 91w A7 3.14 A )

A : Ans’, 20-H om
<T—aan—>

6cm

Q.15 By Selling 90 ball pens for Rs 160 a person loses 20 % . How many ball pens

should be sold for Rs 96 so as to have a profit of 20%. / 72 v# =afF #r 160 777 & 90
Tt ¥ T 9T 20% F i G & 9 20% FT AW H FIA Hiord I9 1 F 96 TG F ey ater ¥

. 2 Aot BEpems .
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A125m lopg train travelling at a uniform speed passes a stationary man in 3.75
seconds. Find the speed of the train in km/hr. / wwr aft & s gy oF 125 9 ewEft 37
R R afRn 9 3,75 e & v wedt & ot 3 2 Py ey o | AL 1o l““lh"-

The sum of the digits of a two digit number is 6 and its ten’s digit is twice its unit
digit. Find the number. / af fift & sia ¥ stwar ¥ Ay sf a7 5w 6 & g g a@TE 3r 3w
7Y 3% & T B A 3w s Ay o A A ¢ muv\}y},__: 4')_

Divide: 9

6x3§— Nx?+7x+5by2x -3 Qupbew = 2L =+ 2L

W 2

6x —11x? + 7x + 5% 2x -3 & QQIY\aMdUL:H

Identify the rule and find the missing number in the place of question marks.
v g ¥ s o7 wd s Wi

13 4

3 2 7
F.) ‘ y 7 11 14

Q.20 Identify the rule and find the missing number in the place of question marks.
wa g ¥ = 93 "€ dear w3

| 4 41 43
| 36 | 47 53
9 | 53 ? Y

— 56

PART B (10 x 10 = 100 MARKS)

Q.21 Acan of oil was 4/5 full. When 6 bottles of oil were taken out from this can and 4
bottles of oil were poured into it, it was 3/4 full. How many bottles of oil can the

tin contain? (All bottles are of equal volume)/ = #1 u# wzar 4/5 wrr W27 g @7| 9« 39
T4 § 6 FTae I (AFTAT TGT 4 TG T ITAT TAT, TF T T34 F F 3/4 A a9 77| §F o4 F Ay

drimaamy ARt A0 Doftler |

Divide Rs 8000 into two parts such that if one part were lent at 7 % % per annum
for two years and the other at 8% per annum for three years. The total interest
received is Rs 1416./ ¥ 8000 #1 a1 w1 & 70 wFR Fifew fF v wrr fr 2 af w7 1
% AT =TS 79T FHE W FT A7 A9 ¥ g 8% ATTEF sgqver FF 7T F 39T XN 9T F+ 1416 T WA

TR g & Ans'. D6, 2L460.
. Solve/ &= f&fdg

5
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Q.24 Atrain passes 330m long platform In 40 seconds and a man standing on the
platform in 18 seconds. Find the speed of the train in km/h and the length of the
train in meter. / mw remrft 330 ot sk cAyrd W 40 kit mar e e wk Tw st 18
T 31 77wt ) rerrf € Pt i ofit mt v it et woet A lel%C, 23om

Priya got married 8 yrs ago. Today her age Is 1 ;th times her age at the time of

her marriage. At present her daughter's age Is ;th of her age. What was her

daughter’s age 3 yrs ago?/ frar € vt 8 wrmr iy gt ot gwf whurr wrg g0k vt & v
3 2 - " a8
#rg & 1 27 bt mfe afy fe wkarr wrg gufa s oo "‘ tmJtd'ﬁwtltftftewvmd??‘

The following number of cadets from class VIII show thelr Interest in joining
different hobbies club./ ®47 VIII ¥ yu &z fafera gfft @ g v grore s 7079
= FTA B
Club/ == Photography/ | Aero | Alchemist/ | Art & Craft/ | Music/
Frivgrhr Modeling/ |smfiez | sriwrez | wgfin |
rgrETE AT

No of Cadets/ 10 'T' 5 | 7 [ 2
Yoz & g R
2° 12’ Lot A

Draw a pie- dlagram to represent the above data./ T771% swET %1 wfAfafirr rm

vl An 24 lAran ran ramnlata

tC a WGII\ lll 12 ua)'a o T LIIIIUI Ciivan LUIIIFICLC \.IIC Jaiuv
work in 18 days 17 women and 8 children started working and after 8 days 3
more children joined them, how many days will they now take to complete the
remaining work./ 16 &= vw s w1 12 faedt & g1 ww wwAt ) 24 oy 7 wrw oy 18 fait & g
FTEET Y AT ERATI U B TG TH AT AT 47 AT Y 7!"8”’ ¥ @z 3 A7 ayg 79wy ¥ qfegfeor o
ﬁ’rﬂwmr*rr:c‘vvrmmvrrr ' Dm#

A travelled a distance of 61 km in 9 hrs. He trave Ih d partly on foot at 4 km/hr
and partly on bicycle at 9 km/hr. Find the distance travelled by him on foot./ A %
61 fesft &1 31 77 wra 7 g w2 mwrx B w2 ay gy 74 4 Faafydz v & form g e f e arfy
371 wriw= & g fefaz £ wf 2 g wrAT 8 AT A 2177 o wy €y ok Tﬁm"m: [é km
The dimension of aroom are 12.5m x 9m x 7m . There are 2 doors and 4 window
in the room; each door measures 2.5m x 1.2m and each window 1.5m x 1m. Find
the cost of painting the walls at Rs 3.50 per square meter. / 7w wax fr wrare 12.6 t x
9 &t x 7 & &) T= wwT 7 2 wrAaTy vA 4 FawfEar &) o wAw avATH Wy wravy 2.5 f x 1.2 o vk gAw
fardr w7 5w 1.5 1 x 157 § 7w =T ¥ Frary %7 3,50 7Y ¥ 77§ 7 w07 & wwry avehy mmrw vy

T omk 16150

A can do piece of work in 10 days. B can do in 12 days and C in 15 days. All begin
together but A leaves the work after 2 days and B leaves 3 days before the work s

finished. How long did the work last. / T# #T@ #1 A, B,C w=w1. 10, 12, #7 15 faft ¥ wr
T YRR msE R TR AT qF R AR AT I R 2 R gy A B

TE ¥ ¥ 79T 77 7 3 fam vy gy 74 8, A o Gerr ¥ ag wrd ww v wmy g

ALL THE BEST Ant’, 7-[)0115.
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